Daily Practice – 52
1) 109.76 + 462.1 =
2) 762,176 – 549,098 =
3) 97 x 16 =
4) 90,087 ÷ 7 = 
5) What’s larger:  or 
6) 30% of 600 = 
7) 122 = 
8)  ÷ 2 = 
Daily Practice – 51
1) 672,817 + 528,765 =
2) 850.1 – 276.59 =
3) 156 x 43 =
4) 3,817 ÷ 6 = 
5)  -  = 
6) 1.97 x 100 = 
7) 12 + m + m= 52    m = ___
8)  x  = 
Daily Practice – 49
1) 153,002 + 7,629 =
2) 619.9 – 263.28 =
3) 903 x 73 =
4) 45,762 ÷ 4 = 
5) What’s larger:  or 
6) 234 ÷ 1,000 = 
7)  as a mixed number
8)  x  = 
Daily Practice – 48
1) 461.72 + 49.8 =
2) 56,187 – 25,972 =
3) 72 x 45 =
4) 8,903 ÷ 3 = 
5)  +  = 
6) 25% of 140 =
7)  42 – 6 x 3 = 
8)  ÷ 4 = 
Daily Practice – 47
1) 649,091 + 231,899 =
2) 908.72 – 256.61 =
3) 532 x 71 =
4) 17,426 ÷ 2 = 
5)  -  = 
6) 89.02 ÷ 10 = 
7) 23 =
8)  x 4 =
Daily Practice – 50
1) 8,913.13 + 652.92 =
2) 27,659 – 10,087 =
3) 88 x 22 =
4) 89,090 ÷ 5 = 
5) 3  +  = 
6) 5% of 260 =
7) 3  as an improper fraction:
8)  ÷ 3 = 
9) 
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